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1. Heis join the army.
A. enough young to B. too young to
C. very young to D. young enough to
2. He enjoys pop music.
A. to listen to B. to listen C. listening to D. listen to
3. Smart he is, he can’t find the answer to this question.
A. as B. like C. that D. how
4. a hot day it is! We had better stay at home.
A. How B. What C. Which D. When
5. When the little girl awoke, she found herself by a group of soldiers.
A. surround B. be surrounded
C. being surrounding D. being surrounded

6. It is time to have your temperature

A. taken B. taking C. to take D. take
7. He to a movie last night.
A. went B. goes C. go D. gone
8. It was in the factory  he met the girl.
A. which B. when C. that D. where
9. The more he tried to please her, she seemed to like him.
A. lesser B. the less C. less D. the lesser
10. I passed the test. I it without your help.
A. would not pass B. had not passed
C. didn’t pass D. wouldn’t have passed
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See London!
It’s an old and beautiful city, but also new and exciting. You can visit over
30 museums, such as the British Museum, and famous places, such as the Tower
of London and Big Ben. There are a lot of excellent hotels in London. And there

are restaurants where you can eat English fish and chips.

Visit Switzerland
Switzerland is great for a vacation. Our mountains are beautiful, our lakes
are clean, and our cities are quiet. In winter, there is excellent skiing. You can go
shopping for clocks and Swiss cheese. And how about buying our great chocolate

for all your friends.

11. Where can you visit British Museums?

A. America. B. Switzerland.
C. London. D. All the places.
12. What can’t we find in London?
A. Museum B. Big Ben
C. Tower of London D. Pyramid
13. If you want to taste chocolate, which place should you go?
A. Switzerland. B. London.
C. Neither of the places. D. Both of the places.

14. According to the text, which of the following statements is not true?
A. You can go skiing in winter in Switzerland.
B. The hotels in Switzerland are not good.
C. The clocks of Switzerland are good.
D. The chips in London are delicious.

15. According to the text, why is Switzerland a good place for a vacation?
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A. Because it is quiet. B. Because it is exciting.

C. Because it is old. D. Because it is new.
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